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O"lA Xt Aol 20,0003 20 400
OYIAIZAL SOt AE=
50,0002 x6H 1 300
O AN AESIE
500,000 x2J4 2xx 124 1,000
IIRAZ(REYI)HSAY 29 34,000 34,000 0
= 6,800
= 27,200
307 elztol & 34,000 34,000 0
= 6,800
[Ea 27,200
1 AMISXAIEEXS 34,000 34,000 0
OIIRABHBAR(OIZEEYT) 2
34,000,000& 34,000
== 6.800
o 27,200
IIRAZ(5YlLis FEWT) HMSAY 29 5,000 5,000
307 glztol & 5,000 5,000
11 AMEISXAEEES 5,000 5,000
OJIRASHSAS (3 YL =EW )2
5,000,000& 5,000
FI= =N\ L= 361,915 224,328 137,587
= 289,532
= 21,715
= 50,668
301 EtE N = 361,915 224,328 137,587
= 289,532
== 21,715
= 50,668
01 AR 2EHSHS(RDNEERTH) 361,915 224,328 137,587
OAS= XX (470F) 361,915,000 361,915
= 289,532
== 21,715
[Ea 50,668
Je=11E MEed 1,140 1,140 0
201 er23 | 660 660
01 At2teltl 660 660
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OAS=NNNY A2 +82 Flat s2
R 8,000 x2& » 15 240
ORIHY = &% X
70,0002 +6H 2 420
202 04| 480 480
01 201 480 480
AT A2 28 2UHolt)
20,0003 28+ 200
OAST=T BUHY Y DRI AD4H
=SUobI(22l) 70,0002 »2F+2 280
SXAEIA FEAH 29 900 900
201 fer= 3| 600 600
01 Al 22| 600 600
OX2asl LSAHIA D 482 95t =
20441 8,00021 %22 %202 320
ONANE L2 U B2 849
70,0002 #4353 280
202 04t 300 300
01 =LHOHI 300 300
OXzal MNL L o3 22 =3 =2
(4] 20,0003 x3&+5& 300
S8 =X EstME X 4,320 4,320
201 =3 3,500 3,500
01 At22t2l] 3,500 3,500
OO0t SXAHA 2223 M
10,0002 350 3,500
202 04l 820 820
01 =LHAHI 820 820
OF0te SAAMHIA NF S U =
oI (22l) 70,0002 x3E*23] 420
OsH H0bts SAAMEIA 2 =8 U
(Gha] 20,000 =2 »10 400
SHS X5 SEAMHA XH 88,787 75,600 13,187
s 62,152
s 2,663
s 23,972
201 et 3| 43,787 37,800 5,987
= 30,652
= 1,313
o 11,822
01 AtR2t2|HI 43,787 37,800 5,987
OS8H XESHSEAHIA =T 2]
43,787 ,000& 43,787
[ 30,652
= 1,313
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 11,822
301 LEtE NS 45,000 37,800 7,200
[ 31,500
= 1,350
Ea 12,150
01 Al EE A S (2 RDEXMA) 45,000 37,800 7,200
OS0 REHEEAHIA 28 XL
5,000,000 98 45,000
[ 31,500
= 1,350
Ea 12,150
A2 SgAtdl2tel X2 15,000 15,000 0
[ 7,500
= 2,250
[Ea 5,250
201 er23y| 10,080 10,080 0
[ 5,040
= 1,512
= 3,528
01 At2teltl 10,080 10,080 0
OAtell2telAtg 24| 10,080,000 10,080
= 5,040
[ 1,512
T 3,528
202 04l 420 420 0
= 210
[ 63
Ea 147
01 SLHoIH 420 420 0
OAtliZe| AR =3 SUHoIHI(2t2)
70,0002 x2H <33 420
= 210
< 63
[Ea 147
301 EtE NS 4,500 4,500 0
= 2,250
== 675
[Ea 1,575
01 AR 2EHSHS(RNEXRTHE) 4,500 4,500 0
OAtAIZrelAFY AFZ I 500,000 *0H 4,500
= 2,250
=S 675
s 1,575
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&t FHAAHESSKKE (SH &)
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SE At ZeIAIY K& 11,370 9,370 2,000

201 er23 | 760 760 0
01 At2teltl 760 760 0
OSEAd 2N 22 =85 ?Iet S2
R 8,000 x2& 20 320
OSE A2l s AL =&
150,000 *22] 300
Os=d?2e &2 MH
70,0008 *22] 140
202 04l 610 610
01 =LHA LI 610 610
OSEAtdl2eItial it 2= X 224F &
f4d =LY 20,0003 x4 x5 400
OSE At 2] &AF 2 WE 4 g2+
2o (22]) 70,0002 x3F 1 210
206 MH=HI 10,000 8,000 2,000
01 MHZHI 10,000 8,000 2,000
OMASE 48Y N2ANE S
200,000 *50H 10,000
folsUl HZA SEXDIsH 228l X2 218,000 76,500 141,500
= 65,400
o 152,600
301 EetE NS 218,000 76,500 141,500
== 65,400
o 152,600
01 Al 2E A S(EREXME) 218,000 76,500 141,500
Odg=dola ME(scl)dl, 42AIXA
= 218,000,000 218,000
== 65,400
= 152,600
M2 X2AIE (2 2LH9) 33,094 89,050 /55,956
= 16,547
== 9,928
= 6.619
302 Ol Mol 2 &= 33,094 89,050 A\55,956
= 16,547
< 9,928
[Ea 6,619
02 2 S HES24=3 33,094 89,050 A\5b,956
OMSXI2Hl XA (22LHI/HAH)
33,094,000 33,094
= 16,547
== 9,928
[Ea 6,619
SHH mlof==8l X2 At 35,000 15,000 20,000
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el S X/ H2AHS

X&)

SA - ZB . 9(BH) - HRAY ol b e HlmS2
301 LPBNZ 35,000 15,000 20,000
03 MBI E& A 262 (RILTHE) 35,000 0 35,000
O3t IloH==8! XI&AtS
5,000,0002 *7AICH 35,000
S AHAIZCIAL =g X 1,920 1,920 0
s 960
= %
= 864
202 Ot 1,920 1,920 0
s 960
= 9%
= 864
01 =LHAHI 1,920 1,920 0
OS&EtAdIZelAF S0 (2L)
20,0003 x2% 483 1,920
s 960
= 9%
o 864
Mol RSAIE (EX) 9,600 0 9,600
& 9,600
201 B2 AL| 2,000 0 2,000
= 2,000
01 A=R2teld| 2,000 0 2,000
OMal=& 2& W=l 2,000,000& 2,000
= 2,000
206 =8l 2,000 0 2,000
& 2,000
01 M=l 2,000 0 2,000
OMl=s=xt 2 2,000,000& 2,000
& 2,000
302 OlI==2 Mol 24 = 5,600 0 5,600
= 5,600
02 QRIOITHOH R SR E S 24 = 5,600 0 5,600
OO0IMe S2=+=Hl X& 5,600,000& 5,600
& 5,600
solsdl SRS SBIIsME 30,000 0 30,000
J| 30,000
301 LBENF 30,000 0 30,000
| 30,000
01 A BEAH 2 (R REETA) 30,000 0 30,000
O=elsul EXDI=st SHIISAY
30,000,000& 30,000
| 30,000




SA F2US
A NAZAHE S (UM BTHE/UBHE)
ol K2 AMME X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N SAHE2E (L SSHY/LEHEE) 70,658 66,302 4,3%
= 1,606
= 7,000
= 62,052
A2 SAHIE X2 70,658 66,302 4,3%
= 1,606
< 7,000
= 62,052
NASAHHE 2 4,480 4,480 0
201 er23| 1,660 1,660
01 At2t2ltl 1,000 1,000
OXH2S AR & A&HEH| FAIH 1,000
“SAEA 7Y 25,0003 202 A 500
-S8J1 &Y 250,000 x2H 500
2 Ss52g4l 660 660 0
OXHASAHHE LEtd3t 0182
15,0003 * 1CH*129H 2 180
O AHHSAKIE S22 212 22|
480,000 480
202 O4H| 2,820 2,820
01 2L A 2,820 2,820
OXZSAIRLIUIOIE ol (242)
70,0002 x2H 3 420
OXIASAIZCIUIOIE o8I (2tLH)
20,0003 x2E 52|« 12 2,400
AESAL 25 X2 30,636 30,036 9,600
201 er2 3| 1,976 1,876 100
01 AtR2telHl 1,976 1,876 100
OXESAL 2= MH 1,000 800 800
OtEsSAEs Xt Xtz
600,000& 600
ONESAER +dS ?et S20HAHI
8,000& »2& *362 576
202 04t 560 560
01 =LHOHI 560 560
O, CF2A) M2 SR & ASEA
YR =8 IALI(22l)
70,0002 x2EH #4353 560
301 Eet2 NS 2,400 2,400
11 #AIAHIXIE S 2,400 2,400
OXESAH ZOHAH WEHl € =&
10,0002 %208 * 123 2,400
307 lztol & 34,700 25,200 9,500
02 2IZHB A E £ 34,700 25,200 9,500
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A NAZAHE S (UM BTHE/UBHE)
el NESAHE X E (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB EZ GATREAS (SHE I MLTA
&b xteldl) 5,500,000& 5,500
OEZES HETASAME(SHLL L E2
012 BHIXIR) 5,200,000 5,200
Oz HATEZAIE (OIS 012 BHat
X&) 3,000,000& 3,000
Odl2e odiASAtE (02 0l et
X&) 3,000,000& 3,000
OstH HETASAE (A2 0|2 BHat
D) 3,000,0002! 3,000
OULI OIAXIAZAIEI (0122 01 Bt
X&) 3,000,000& 3,000
OUEY GATAZAE (02 OIS BHat
X&) 3,000,000& 3,000
OLKHIS BATIRZAIS (01212 012 Bt
XE) 3,000,000& 3,000
OtH=2H GEXFSAE(AA2 0l gt
XI) 3,000,000 3,000
OO0 Gg X ASAtEI (02 0l eH&t
A& 3,000,000& 3,000
ANBHSAH 2d3t XA 23,330 23,330 0
=S 7,000
s 16,330
201 et 3| 10,100 10,100 0
< 3,030
[Ea 7,070
01 AtR2t2lt] 9,000 9,000 0
OXESA S A23H| 9,000,000& 9,000
S 2,700
= 6,300
03 A= SHI 1,100 1,100 0
ORASAT DEUAL 28
1,100,000& 1,100
=S 330
i 770
206 M=l 6,500 6,500 0
< 1,950
s 4,550
01 MZH| 6,500 6,500 0
OX2ZA ESHEH 7Y
500,000& % 13H 6,500
= 1,950
Ea 4,550
301 EetE NS 6,730 6,730 0
== 2,020
o 4,710
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el NESAHE X E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 6,730 6,730 0
ONESAUSE 2 25 &
6,730,000& 6,730
= 2,020
Ea 4,710
d= SE ANESAMEE I MblA X2 3,212 3,75 N544
= 1,606
o 1,606
307 212+01& 3,212 3,75 Ab44
= 1,606
= 1,606
6 2= 3,212 3,756 N\B44
OXN2SA SEEE It
3,212,000& 3,212
= 1,606
Ea 1,606
ZoHel SR S (MIISX /I =MHESEH) 9,975,204 8,237,364 1,737,840
= 4,999,360
s 1,170,218
s 3,805,626
O A R AllgES K& 3,420,947 2,966,210 454,737
= 634,377
= 515,561
o 2,271,009
ZOHRIHAL & ARSI E 134,432 167,010 N32,578
201 ger=3| 6,110 4,610 1,500
01 AtR2te|H] 3,780 2,280 1,500
OZ ARSI HEX MZ
1,2002 *1,000% 1,200
OHMA=SXAE EE2E M
1,500,002 1,500
OHNUAS +BES I8t S2OHAY|
8,000 x3& *453] 1,080
02 s3=gHl 2,330 2,330 0
OFZFE ST AEZ
35,000 *1CH =122 420
OYULISES Rutls 23
3,820 #5002 1,910
202 04t 2,220 2,220
01 =LHNHI 2,220 2,220
OFOIOIBAF BAT} 01 QD48 2O
HI(2t2l) 70,0003 x2H *43] 560
Ol HYAE nFEH R = =
ofdI(22l) 70,0002 x2H #53] 700
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SN OISR
3 ZOH SA ST(ARISX/IIZMEL2Y)
S HOjQ A R AtRIES K (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBMNI=X 0K AINE 72
100,000 6% 600
ZOHR! THEAE 23 2,300 2,300
201 er=23y| 1,080 1,080
01 AtR2t2|HI 1,080 1,080
OBMATHEAIL 2 S8 9is =20
A8l 8,000 »3& 452 1,080
202 04| 1,220 1,220
01 =LHO LI 1,220 1,220
OZMAMEAE WFETH 2+ A
bi(2¢el) 70,0002 %22 *33] 420
OBOMRITEAIL NEHY S28 20l
] 20,0003 x2Z+10 =23 800
el H AS=EE MEAEIA XA 21,000 21,000
307 21201 & 21,000 21,000
11 ARRIS XA E X 21,000 21,000
OTOHQ! L HESHLQ! HEA
15,0003 x50 x22|« 12& 18,000
Ol & HSSHEL! MEMY e =
L]l 250,000 * 122 3,000
oIS HEH =2 381,939 234,284 147,655
=S 69,429
s 312,510
307 @12t01 & 381,939 234,284 147,655
== 69,429
[Ea 312,510
10 Al2ISTIAIEEE 22X 381,939 234,284 147,655
OZMESHAE 2|
376,269,000 376,269
= 67,728
= 308,541
OHMIESHHEY SAHA SEE
5,670,000& 5,670
=S 1,701
s 3,969
SXH22AEE 24 534,299 397,260 137,039
& 97,211
= 437,088
307 glztol & 534,299 397,260 137,039
= 97,211
o 437,088
10 Al SXAAEEHE 22X 534,299 397,260 137,039
O ALY 24| 525,659,000 525,659
= 94,619
o 431,040
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che]:

Ofl &F2H

MEE
Ofl &k2h

8,640,000

M

8,640
2,592
6,048

M

330,875
50,441
280,434

293,375

37,500

307 212t01&

M H

330,875
50,441
280,434

293,375

37,500

325,475,000

5,400,000&

M

M

330,875

325,475
48,821
276,654

5,400
1,620
3,780

293,375

37,500

H oW

862,140
585,942

82,829
193,369

872,583

/10,443

307 212t01&

HoH A

862,140
585,942

82,829
193,369

872,583

10,443

10 MEISXAEHE2EHIEX

OFMUANFAIE 2SH]
837,060,000&

OFORANZAIE BAKSELG

24,480,000

OBOHINHFAIL 2R

600,000

o

A H

UMY

862,140

837,060
585,942

75,335
175,783

24,480
7,344
17,136

600
150
450

872,583

/10,443

o

12,4%
8,747
1,125
2,624

12,4%
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3 ZOH SA ST(ARISX/IIZMEL2Y)
SRl HOHQ! AN & ARIES XIE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 12,49%6 12,496 0
= 8,747
== 1,125
[Ea 2,624
10 Al2ISTIAIEEE 22X 12,4%6 12,496 0
OBURINFAIL AL X2
12,496,000& 12,4%
= 8,747
== 1,125
o 2,624
O MEAZOf21d D) 29 577,356 424,708 152,648
= 117,337
= 460,019
307 elztol & 577,356 424,708 152,648
= 117,337
Ea 460,019
10 Al SXAEEHE 22X 577,356 424,708 152,648
OAESE 2gH 568,396,000 568,396
=S 111,679
s 446,717
OMELIE BANXISE S
18,360,000 18,360
== 5,508
= 12,852
OAFESE ZEFAHI 600,000 600
= 150
o 450
ope! A== 2 66,368 123,798 A57,430
101 e124d| 31,524 0 31,524
M ORNZZ2NSE S 31,524 0 31,524
OO A== 2c|el 22 25,946
= 2 76,9602 x1&H #2492 19,164
=5+g 76,9603 x 1 »52& 4,002
A= E 23,164,960 *12% 2,780
OF0fQ! ATHFE B2lol E1X3
2,000,000 2,000
ORAxIRE S 50,0002 500
OUNE HEHH £ 22
192, 3702 x2& *4 3] 2 3,078
201 fet=3| 33,844 21,898 11,946
01 AtR2t2|HI 1,560 1,560 0
Tojo! UThF BRANSL ADEE
60,0002 * 1294 & 720
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S HOjQ A R AtRIES K (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SR EEERETIEET]
70,0003 * 12043 840
2 ZZ2H| 2,284 20,338 11,946
OmONO! ATH=E AILEH ST
1,000,000 1290 & 12,000
OH0He! LU+ A=
1,500,000 22 3,000
Ol LUFE SRS
40,0002 128 480
OF0fQl YTHFE ®II1Q3
150,000« 128 1,800
O LU= =23
30,000 *129HE 360
OZ0HR! LUH=E 2RIARE: ZAIARS
30,0003 * 12043 360
O SU==s2els RFI
1,620 «252| B +73] 284
O LTS MRUFH E+2Ac
000, 0002 +7 Al CH 14,000
206 Tl 1,000 1,000
01 WEHI 1,000 1,000
OFY YTHFLR2IE 547Y
100,000 %52 500
OZF0je! SU=s2e|s LdgAZFY
100,0002 %52 500
ol EoAAE X2HEH 2E 59,025 62,140 A3,115
S 11,913
= 47,112
307 elztol & 59,025 62,140 23,115
= 11,913
o 47,112
10 Al SXAAEEHE 22X 59,025 62,140 A3,115
OXIHZHQ BOIAL NRME 29
57,945,000 57,945
=S 11,589
s 46,356
OXIHMZO0Hel BOAIE XI2HE SAASE
=g 1,080,000 1,080
= 324
= 756
HEO0ISXNSHEH =2 X2 169,620 133,240 36,380
= 34,248
o 135,372
307 @120l & 169,620 133,240 36,380
== 34,248
o 135,372
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3 ZOH SA ST(ARISX/IIZMEL2Y)
SRl HOHQ! AN & ARIES XIE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 169,620 133,240 36,380
OZgEIY MU ME0ISXZLE 2
166,380,000 166,380
= 33,276
Ea 133,104
O EZMHALEO0ISKBLEH SANSE
=g 3,240,000 3,240
< 972
Ea 2,268
FotSAME 29 133,345 115,640 17,705
= 26,984
o 106,361
307 elzto| & 133,345 115,640 17,705
= 26,984
o 106,361
10 AlRISXAZEE 22X 133,345 115,640 17,705
Ox=0S9He =23 130, 195,000& 130,195
== 26,039
o 104,156
OFUSSHE SANSEESZ
3,150,000& 3,150
= 945
= 2,205
oHel=0iud ZT2)H 2 5,000 5,000 0
=S 1,500
s 3,500
307 21201 & 5,000 5,000 0
< 1,500
[Ea 3,500
10 Al2ISTIAIEEE 22X 5,000 5,000 0
OFM=0ua T2 24
5,000,000& 5,000
= 1,500
= 3,500
LR A EHZ2OH(XE2Y) I 9,000 9,000 0
S 2,700
o 6,300
307 @I2t01 & 9,000 9,000 0
== 2,700
o 6,300
11 AMRISXAEEES 9,000 9,000 0
Oggdel Alslgozz 18 (Xx22e)
9,000,000& 9,000
= 2,700
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SN OISR
3 ZOH SA ST(ARISX/IIZMEL2Y)
Sl Hojel Moty X2 (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 173,890
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